AMAT 3260 assignment #6, due April 2

Problem 1 Find general solution of the system of equations. Sketch few trajectories in

the phase space of the system. Is the zero solution stable or unstable?

. x| = 3z — 2,
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Ty = 5T1+ 5T

A x| = 4x; — 329
. xh = 8z — 6y

Problem 2 Find general solution as a real valued function. Sketch the phase portrait of

the system.

1 ) = —x1 — 4xy
xh =121 — 9

xh = 4x] — 29

5 {x’1=3x1—2:r2

3 Ty =11 + 219
. ZE; = —51'1 — X2

Problem 3 Find general solution. Sketch few trajectories.

1 x| = 3z, — 4z,
Th =121 — Ty
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Problem 4 Solve initial value problem.

. { x) = 2x1 + 1.5

xh = —1.5x1 — X9
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Ty = —dx1 + 4z

Problem 5 Find general solution of non-homogeneous linear system.

. Th =2z, — 1y + €
' xh =3x; — 2wy + 1
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